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SHIFT F@j *** JOB MENU *** E%f’ﬁﬂkgii—ﬂﬁ%ﬁ:%
‘*”4’4L’ P1 : Blanket purchase R ER— T,
1 P2 : Stockout cost
P3 : Split purchase
P4 : Seasonal var
JOB No, ?__
(1) BERWERF
s wmE | g = B X
11 = %k Blanket purchase k| ZTF1Els, BBEMERHEF.
\ Storage cost=__ Bk, SWEEMNERERFMRR.
2 | 0,01 @& | Order cost=__ | SASRBAHESRA.
3 | 1000 @2 | Quantity sold=__ | sAERRwER,
4 | 10000 @ | Quantity sold=10000 | HH&R.
(2) ZRIFHERAVER
sm | anmn 8 = | B X

1 |[SHIFT)(#] 2 &
L

%k Stockout cost kX

pTomllee, B BB EnAN
B,

Storage cost=__ e w RS ER HRE R,
- |
2 ’ 2 @l Stockout cost=__ | RmAETHSERERA.
3 { 50 [ﬂ] ‘ Order cost=__ { BRI ER.
4| 15 =B | Quantity sold=__ | mAsFaEE
5 ] 60 =l ’ Quantity sold=60 ‘ M,
(3) HHLRBBRF
ﬂ?l BiRE ' 8 5 ’ B X
1 |(SHIFT!(0) 3 &3 %X Split purchase XX %‘:'Fsﬂ]‘%, it Lok QK
S Storage cost= ¥ SN AETRNEH FRERR.
2 | 0,01 @@ | Order cost=_ | MAGRMNERNA.
3 | 3000 @l | Quantity purchased=__ | WABKNRHR.
4 ’ 25000 | Quantity sold=__ lﬁ;)\ﬁﬁg@fgggg_
5 | 10000 W | Quantity sold=10000 | HHLER.
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(4) ZRBBVHEHHEF
| |
%/F%~ Y ‘ 2 R | ' X
1 1 SHIFT @4ﬂ1 %% Seasnal var, XX gg;ﬁ%ﬁ. 5 BB B
‘ ) Total demand=__ & RE WA LM R,
2 g 100000 | ‘ Storage cost=__ WMABTNEHFREEDR .
3 } 0.01 @@ | Order cost=_ BARHRE.
4| 30000 @@ | Ordercost=3)00 FEXEEHLER
I e s
%% BlanKet purchase XX® %x Split purchase®@xX
Storage cost=®50 Storage cost=®50
Order cost=®19 Order cost=®10
Quantity sold =®620 Quantity purchased =®5200
Quantity sold=®4000
Opt, quantity =®15
Opt., cycle=®) Opt, order quantity=®©89
Ave, inv, quantity=a7 Opt, order cyc.=®0
Ave, inv, quantity=®44
%k Stockout cost®kk xX Seasonal var, ©®XX
TI Storage cost=®3) Total dema nd=®5p00
Stockout cost=®2 Storagecost = ®50
Orler cycle=®19 Order cost=®19
Quantity soid =®3000
L Opt, order quantity=®1923 Opt., order quantity=02
v Stockcout day=®9 Ave, inv, quantity=01
P, OBTERY OREHE @& 5 A ORBH R
@FHE %R ®FREmRY OREERE OREERADR
@EH @FBFEF R OB A
OWMER @& B A @R ®ERTmRE
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10 CLS
20 PRINT “kkk JOB MENU X%kk”
25 FOR I=1 TO 190 : NEXT I
39 PRINT *“Pl: Blanket purchase”
40 PRINT “P2 : Stockout cost”
50 PRINT “P3: Split purchase”
60 PRINT ‘P4 : Seasonal var,” 3
70 FOR I=1 TO 507 : NEXT I
g2 INPUT ™ JOB No,” 317
99 IF J=1 THEN GOTO PROG 1
100 IF J=2 THEN GOTO PROG 2
119 IF J=3 THEN GOTO PROG 3
120 IF I=4 THEN GOTO PROG ¢
P1
5 CLS
12 PRINT “kkBlanket purchasekk”
20 INPUT “Storage cost=", A
390 INPUT “Order cost=”, B
49 INPUT “Quantity sold=7, C
180 X =INT ((2%xBxC/A) ~(1/2))
200 Y=INT(X/O)
202 Z=INT(X/2)
212 LPRINT “kk Blanket purchase kX”
211 LPRINT
212 LPRINT “Storage cost=" 3 A
214 LPRINT “Order cost=" 3 B
216 LPRINT “Quantity sold=% 3C
218 LPRINT
220 LPRINT “Opt, quantity=7 3X
230 LPRINT “Opt, cycle=” 3Y
240 LPRINT “Ave, inv,quantity=7 327

300 END
P2
10 CLS

27 PRINT “xk Stockout cost Xk”
39 INPUT ‘“Storage cost=%, A

" 49 INPUT “Stockout cost=", B

52 INPUT *“Order cost=", C

62 INPUT “Quantity sold=” , D
109 X =(CkxD%xB)/(A+B)

120 Y=X/D

130 X =INT(X)

147 Y=INT(Y)

239 LPRINT “kk Stockout cost XX”
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240
259
320
312
327
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1?
22
32

A
J

59
69
79
189
200
210
229
230
320
325
319
320
330
340
352
369
379
382
420
Py

192
27
32
49
52
109
113
139
149
200
205

10

LPRINT

LPRINT “Storage cost=" 35 A
LPRINT “Stockout cost=" 3 B
LPRINT “O:der cycle=” 3C
LPRINT “Quaatity sold=” 3D
LPRINT

LPRINT “Opt, order quantity=" 3 X
LPRINT “Stockout cays=7 3 Y
END

CLEAR

CLS

PRINT “kX Split purchase XxX”
INPUT “Storage cost=", A
INPUT “Order cost=", B

INPUT “Quantity purchased=” , C
INPUT “Quantity sold=", D

X = ((2XD%CxB)/(C-DyxA)) ~ (1/2)
Y=X/D

Z=X/2

X =INT(X)

Y =INT(Y)

Z=INT(Z)

LPRINT “kk Split purchase XX”
LPRINT

LPRINT “Storage cost=" : A
LPRINT “Order cost=" ;B
LPRINT “Quantity Purchased=”" ;C
LPRINT “Quantity sold=" ;D
LPRINT

LPRINT “Opt, order quantity=* ;X
LPRINT “Opt, order cyc,=% 5 Y
LPRINT “Ave, inv, quantity=" ;Z
END

CLS

PRINT “kXk Seasonal var, xX”
INPUT “Total demand=", A
INPUT “Storage cost=" , B
INPUT “Order cost=*, C

X = ((2xA%C)/(365%B)) ~ (1,/2)
Y=X/2

X =INT(X)

Y=INT(Y) : .
LPRINT “kk Seasonal var, kX’
LPRINT
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219
220
239
240
320
310
400

LPRINT “Total demand=" 3 A
LPRINT “Storage cost=" 3B
LPRINT “Order cost=" 3C

LPRINT

LPRINT “Opt, order quantity=" 3 X
LPRINT “Ave, inv, quantity=" 3 Y

END
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g7 BB { B xR & X
RUN @& | xINVENTORYX BARH R4
. 1:NEW 2: ADD L WABHE 2 ARETE
3: MODIFY 4:A11 LiSt | 3: %A% 4+ B H B3I
2 : LiSt 6 : END B MEMTEAL 6 : &%
(1) WMABTH
5 o RIE B % 5 X
e CLEAR Y/N? __ S RE T B B E K,
Y ZFY, BRKSEEE R
Code 1 WABITE OB REH (RSB .
2 Name__ WAL RTERR,
TV =" Inventory__
3 12 =) Minimum__ MARMEELRE,
10 @@ | Code 2 mAmmEas S (RBSSD)
1 Name_ REEA S BATF N
END @l wg R “Newe_ " ML, HIAENDR:, XA ABERRZER
(2) WAMFEITHE
ki [ sl % % X
, Code 11 WA (RIBAS11) WRLLHK.
Name__ R HEECZINI0T,
JCLEANER @l Inventory. BWMAGATEFR
2 ' 9 &1 | Minimum__ N B TR AT
3 | 12 =l f &R B R R,
(3) BRHNE
RAE { 8 = B X
3 Correct BB
! *fdeo?” etk HIAKE BT R BAS
2 | 4 Name ICE BOX ‘ B RIS S AL RE R AR,

H S B A7 57 (4 T L B SR BRAT TR 1R
HIVKAE.

| ©
]

3 [TOASTER gj.gj Inventory 5__
|

R & | TOASTER | TR R R R ok
Minimum 4__ ‘ IR AT RREE
5 | 10 &l BEGECEETS

13



WarFHER

(4) &835%
SR | SR(E 8 = ] ®oX
7 | 4 @@ | LIST PRINT Y/N \ SH AR ETOFARITHE.
Y Code 1 L ey RUER, MMERFR, B
= Name TV BRI LTEN A E 0 S
8 Inventory 12 B EEFRE. _
Minimum 10 ! WEEITHRE, BEREENRTERA,
(5) 5l M
‘ \,
$B S IE | g = ‘ g ox
10 | 5 ‘(bder.=__ i MATUHHT HRBRES.
nl 3 e PRINT Y/N?7_ l S A SR AANTE.
N ﬁgfn: 3CLE ANER MERFR, T RBRE A LS
12 Inventory 9 W, Ui RAREEARE.
Minimum 12
13 o | AL 1)
» FTEDGH

Code® Name®

14

@ 00~ O O b W N -

—_
— S

X INVENTORY LIST %©

Inventory®

v 12
RADIO

CLEANER 9
TOASTER 6
CALCULATOR 20
WATCH 25
BATTERY 50
CAMERA 15
PRINTER 6
COMPUTER 5
VIDEO 9

Minimum®
19
10
12
19

4

7

12
3

2

1
12

. OFRE OB OfKF OFRE ORKE
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39 CLS :PRINT “XINVENTORYX”

40 PRINT M :NEW  2:ADD, 7, “3:MODIF
Y 4:All List” , “5:List 6:END” ;

50 K=VAL(INKEY$) : IF K<1 THEN 59 ELSE
IF K>6 THEN 59

62 BEEP : GOTO Kx109

100 CLS :INPUT “CLEAR Y/N” , AB$:IF AB$
<> “Y” THEN 39

116 CLEAR :DIM A$ (100), B! (100), C! (100)
GOSUB 1029

120 FOR I=1 TO 100 : N=N+1

132 GOSUB 930

170 NEXT I

199 PRINT “Full” :BEEP : GOTO 39

270 REM

219 N=N+1:IF N>101 THEN N=N-1:GOTO 197

220 1=N: GOSUB 900

233 GOTO 39

320 CLS :REM

319 LOCATE o, 0 : PRINT “ixkCorrectkk”

329 LOCATE e, 1:PRINT A1$; : INPUT I

325 IF I>>N THEN LOCATE 5, 1:PRINT “~

GOTO 320
339 LOCATE 12, 0 : PRINT A1$s1
349 LOCATE e, 1 : PRINT A2%35 AS(D) ;s ”

350 LOCATE 5, 1: INPUT ™ 7, ABS:IF ABt<>
Y 7 THEN As$()=AB3
355 LOCATE ¢, 1 : PRINT Ay s N 4
369 LOCATE ¢, 2: PRINT A3¢$;35 BI(D
365 LOCATE 16, 2:INPUT Y7 , AB$:IF ABS$S<>
Y7 THEN B!{)=VAL(ABS$)
37) LOCATE 7, 2: PRINT A48 Cl(I); ™
V4
375 LOCATE 16, 2: INPUT * 7, AB$:IF AB$<>
v 7 THEN Cl(I)=VAL(AB%)
383 GOTO 37
450 REM
© 410 CLS : INPUT *™MLIST PRINT Y/N” , AB$: H=1
415 IF AB$= “Y” THEN LPRINT CHR$(28) s CHR
$(46)
42 FOR I=1 TO N : CLS
4379 PRINT A1$51, A2%s As(D), A3$; B, ‘A4
$:Cl(Ds
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